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63  Under the writ of Habeas Corpus 
 1. The court can order that the arrested person should be presented before it. 
 2. The court cannot reverse the order of an executive authority which led to arresting the person 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
64  The iron catastrophe, a postulated major event early in the history of Earth, refers to 
 A. Concentration of iron deposits due to inter-glacial periods 
 B. Sinking of iron to the centre of the earth leading to an overall restructuring 
 C. Erosion of minerals from earth’s crust due to solar winds 
 D. None of the above 
65  If we did NOT use an Indian Standard Time, the actual time difference between which of the 

following places would be more than 1 hour? 
 A. Ranchi and Kolkata B. Agra and Kanpur C. Patiala and Chandigarh D. Dwarka and Dibrugarh 
66  Mandamus can be issued when 
 1.  The Government denies to itself a jurisdiction which it undoubtedly has under the law 
 2.  Government is under a moral obligation to act on a particular matter, even if it has no duty under the 

law 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
67  People's Union for Civil Liberties (PUCL) is a human rights body formed in India in 1976 by the 

socialist leader 
 A. Jayaprakash Narayan B. Vinoba Bhave C. E.M.S Namboodiripad   D. Narayan Ganesh Gore 
68  Consider the following statements. 
 1.  Global Alliance for National Human Rights Institutions (GANHRI) coordinates the relationship 

between NHRIs and the United Nations human rights system. 
 2.  The Asia Pacific Forum (APF) is the only regional networks of national human rights institutions 

(NHRIs) that is independent and exclusive of the GANHRI. 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
69  Which of the following limit the effectiveness of Wholesale Price Index (WPI) as an inflation 

targeting tool? 
 1. WPI excludes services sector. 
 2. WPI inflation does not necessarily reflect what a household pays. 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
70  Redshift from gravity means that 
 A.  When light moves away from an object with gravity, it is stretched into longer wavelengths 
 B.  Gravitational waves interact with selective parts of the light spectrum depending on the frequency of 

the light source 
 C.  When light enters a gravity-vacuum, it disperses into its constituent colours 
 D.  When light moves away from an object with gravity, it is stretched into shorter wavelengths 
71  With reference to the Fundamental Duties of citizens, consider the following statements. 
 Assertion (A): Constitution does not make the enjoyment of fundamental rights dependent or conditional 

upon fulfilment of duties. 
 Reason (R): The Constitution does not have an explicit provision about enforcing these duties. 
 In the context of the above, which of these is correct? 
 A. A is correct, and R is an appropriate explanation of A.      B. A is incorrect, but R is correct 
 C. A is correct, but R is incorrect.          D. Both A and R are incorrect. 
72  Which of these are non-justiciable rights under the Constitution? 
 1. Right against economic exploitation 2. Equal pay for equal work for men and women 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
 
 


